
 

Energy methods Topic 16: 24 Mechanics of Materials 

Problem B 
Find the vertical deflection of the beam at point B and the angle of rotation of the beam at 
B. Let  E  and  I  be the Young’s modulus and second area moment of the beam cross 
section, respectively, of the beam. 
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Since Ay and Ma are our redundant loads we can write

the following
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we need to solve 3 and 4 for Ay and Ma
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Now that the reactions are known we can then find

the displacement at B To do this add dummy
load Pd at B Repeat process to determine

the strain energy function for beam


